OOAD 2" cycle

| Payback ATM |

Mun gitae /Han sang min




Chart

System Action.

Category Partitioning Testing
Brute Force Testing
Document
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PMD
Sonar Qube
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Category Partitioning Testing

Category Values Key

291 AHE %l olLholl A%, pBOf| Sle @ 1

¢l olLholl 2A3, peO gle @ 2

SHERLNIHERS if 3

ST 4

7|E} String 5

H Y= %l olLholl A%, pBOf| Sle @ 1

¢l olLholl 2A3, peO gle @ 2

SHERL/NLHERS if 3

S5 4

7|E} String 5

&3 Az %l olLholl A%, pBOf| Sle @ 1

¢l olLholl 2A3, peO gle @ 2

SHERL/IHERS U 3

S5 4

Mode key Category 7|E} String 5
o[ 1 OIx =4 ojF 2 oM ool 2t 1
232 A% 82t 2

£ 2 3 o SHEZR/MHERS ¥ 3
2 3 oa =29 7|E} String 4
FHof 3| 4 - =3 39 =389 2ol gt 1
AgR% 5 - 8+¢ z
SHERL/AHERS i 3

7|E} String 4

ga =9 USHF 2ol &t 1

S5t 2

SHERL/HEZL it 3

7|E} String 4

g5 o8 SI8E ChEA), &% 1

SI8EX] ¥ HEX, £2% 2

“true”/"false” 3

7|E} String 4

o4 of & SI8E CHEXR, &E2% 1

SI8EX] ¥ HEX, £2% 2

"true"/"false” 3

7|E} String 4




Test Description Pre-Test Fix management
result

Ofx| &

23921 Azt
Hel Lol A2 DBl U=

HIL HS:
#2| Lol A1 DBOl| U= 2t

&3 7z

Hel ol A2 DBl U=

O|XIZl: ofx| Hel etof 2t

AR
IS

H[o|H:

AR
S¢S

b (o] .

A
%'-rs-

mlo]:
B45:
mlo]e):
LB
mlo]:

AR
IS

H[O[4:

AR
IS

H[o|H:

AR
I35

mjo|4

A=
I3

o[

SI8E 2t AEX
SIS th2Xt A2X}

S8E thext ARKE
SBEIX| oS hER ARA}

SI8E HEX} AEXt
true false &gl

SI12= tHEXL A2X}
7|E} string

SI8EIX| 42 f, AZX}
SI8E tEX 22Xt

SiBEI 22 o A2xt
SR 2 theXt ARK}

SI8EIX| 42 o,
true false &gl

SIE|X| 942 f, AZXt
:7|E} string

I true false &52! A|
: SI8E hEXL, ARXL

failed

failed

failed

failed

failed

failed

Test result
(2 cycle)

oM XXt2F BH=Ct
HO|H2 XXi2k Hh=rt
H|o[H2 XXt2F BH=Ct
HO|H2 XXi2k Hh=rt

F+SAH2| SIEX]
f= AEXLE=E FEst
X2k AL} mjojH2 =
Xzt gh=rt

CHARXH= FHESHR|2
HO[H2 X2t Hh=rt

LB S8R

HARRHS Pest

beIAILE Hole %
H

H+BAHH|2| FIEEIX|
= AEXRE AHs
X|2F HAIL} oW =
Xt gh=ct

B2 true/false2
43 H=Ct= XA eich
mjjo|#l2 X2t Hh=r}

=S

(<)) (=)
w N

2]
~

(Key = 3.1.0.0.0.0.1.1.1.)

iz 2 it
ERTIEE
9l olLjoll 4, DBOH U= 2
AT FU: YT Wl ool 2

(Key = 3.1.0.0.0.0.1.2.1.)
(Key = 3.1.0.0.0.0.1.2.2.)

(Key = 3.1.0.0.0.0.1.2.3.)

15.8%—>56.6%—100%

6/38

47/83

83/83

Category Partitioning Testing

(Key = 2.5.0.0.0.0.0.0.0.)

H[o|H:

2 thExt, ARX}

[

H[o|H}:

“true” /" false”

H|O[4:

7|E} String

Passed

Passed

passed

o]

H[o]

Hlo]

=

ro

J

E
rlo

J

=

J

Passed

Passed

ignored

ignored

ignored

passed
assed

Passed



Brute Force Testing

Ho|w Z2 WLt LY H5 U | Pass | | Pass |
HolH E2 UA5tx| 24 CESETN  Pass |
Djo|d Z2 HQIZt 9 WS U VBT Pass
4 Printstatement2| Y22 12|9|string [ Pass |
5 2301 Aziet SYUE AZZ 53 28 | Pass | | Pass |
6 | UZ/EZ/EZ Ul S+ 2 U | Pass |
1000000|4te| 2iZ2 4s5tn DBIIY xehwste siol NN | Pass |
[ 8 ] DB MY == 24 Ztoz= MXsH S ma Al | Pass |
9 LS (yv/n)UHsHx| %S | Pass | | Pass |
O[X{|A| DBO|l Si= AZHHSZt 2l CIEIPSEIN Pass |
mo# E2 F4E Szt S0t UBSHK| U2 | Pass | | Pass |
UZ N U EFZ U | Pass |
U2 Yol YRE P20l CHSO= MSH= (Fail2l HEH) P E
a0 G435 mof
248 LA 20 510 | Pass | | Pass |

7%—64%—100%




Brute Force Testing

S3 S ANZHE =58

| ogarx) = I
Pay back Atm = =

SHE HIZHS 81 2HEIA SHELICH

U | =tor

ALBS WOANSLINZ YN

HOM ZEE HE2 MHGNR.

[Z]Pay back Atm = =

LTS E2ANNSLIZ YN

HOM 358 HNT2 SNGH 8.




User HMI0H TolOl
HSEO|ME UserE Customer?t Adming TSI H2SHA ®7(|5t2t0 @78t

User= Customer 3+ B0|7| 20 HAZ BE3E LRI} ¢S (Admin H2| otsh

Interaction Diagram
T=HE|00F & 22 (M HA| ZHEA)O| CHsi 2+

STAMLHZE =F&




BasedOil CHolOl

HZE A Find Info 2t = Use-Case= A2 XS] A xtH=
A0 et el E|{X|= AOo|2t E 11 Event Based/f Of &l
Actor BasedE =-™old #H&

A. Actor-Based A. Actor-Basede

Deposit
Deposit

— B. Event-Based«
B. Event-Based




Find Error.

All class and interfaces have to belong in named package

Each class should be declare at least one constructor

Avoid unused variables

It is somewhat confusing to have filed name same as a class name

Methods should not contain underscores

Header comment requirement required

To avoid mistakes add a comment at the beginning of the “commission” filed
if you want a default access modifier

Variables should be start with a lowercase character

Use explicit scoping instead of the default package private level

Static Analyze- PMD




Static Analyze- PMD

PMD report

Problems found

I File Line Problem

1 Accountjava & g ,
3 ACCOuUNt java .

5 Account.java

7 Accountjava
I
3 Account.java “
» " .'.
PR a2
11 Account ;ava “

13 Accout.java £
15 Account java v
17 Account java £




Static Analyze- PMD

?-"_'4'5 Send_java 2 | ! tert 1 i 3 [ T |

P95 Send. jiava v I I ) " : " a I

797 Send. java

M0 Send. j@va 3 ' r i : - . - - I

21 Send. java 4 : : gt

B3 Send. java 5

A0S Send. iava 5

BT Send. ava

A0 Send. janva T t : it fn il " . |

)

811 ':.-El‘nj S 1

813 Withiraw java

ko

815 Withdraw java 2
BI1T Withdraw.java

219 Withdraw_java =

BE21 Withdraw._ java E " g - — . - T - - l

623 Witharaw_java n Sl S ] Lot 2 g

E2S Withdraw java 13




public class

Solution.

o= HA

f
O| 51} == O|FO| 22X} 2= ATHK| FE2 AO0| AN BxF &

e el
-

Account extends Bank{

private static long Account;

public static long password; —
public static long total Amount;

public static long limit Amount;

public static long use frequency;

Static Analyze- PMD

Lot UAS

HASEHUM Hseh 280 20 2L C[ZE 7| X| oM 2T
CIE{Slof ZOtEL| §X =4 tool OICH L2 A &=L
(& BN 20| ofL|atn MZHoto] = FSHA| RRULEH)

A= HEY

MO

[/controllerl XS HEE SUNHZ)| L5 BHASE HASID 2= classO|C}

publiq class Account] extends Bank{

private static |long account;]
public static long password;
public static long total_Amount;
public static long Limit_Amount;
public static long use_ frequency;

//controlle

ril SHY ZEE QHII| YT HAEE HESID SlE classOIC

pubiic clas
private
public
public
public
public

s Account extends Bankj
static long account;
static long password;
static long total Amount;
static long limit_Amount;
static long use_frequency;




Solution.

public class Controller {
public static long User Account;
public static long Receiver Account;
private static long Password;
private static String Category;
public static long Input Amount;

private
private
private
private
private
private
private
private
private
private
private
private

static
static
static
static
static
static
static
static
static
static
static
static

long User 1d;

long User password;

long User Limit;

long User Totalmoney;
long User frequency;

long Receiver 1id;

long Receiver password;
long Receiver lLimit;

long Receiver Totalmoney;

long Receiver frequency;

String R bank;

Static Analyze- PMD

import java.io.IlOException;||
ff HUEED GHSE tossE Bt SchA0ICH HIIH =H2E 2.
public class Controller {
public static long user Account;
public static long receiver Account;
private static long password;
private static String category;
public static long input Amount;

private
private
private
private
private
private
private
private
private
private
private
private
Scanner

static
static
static
static
static
static
static
static
static
static
static
static

long user 1id;

long user password;

long user Limit;

long user Totalmoney;
long user_frequency;
long receiver 1id;

long receiver password;
long receiver Limit;
long receiver Totalmoney;
long receiver frequency;
String u_bank;

String r bank;

s=new Scanner(System.in);




Static Analyze- Sonar Qube

Find Error.

37001 291 350101 ZI2FE= T QUL SA] (ALY L =X AUTHE= 2UE =#Y)

Bugs Weakness New Bugs | New Weakness
3 35 3 33
3 15 3 A5
Code Duplicated blocks Code Reduplication
Reduplication New Code lines
2.7 % 2 27 %
1.3K New Code Lines
1.3K New Code Lines

TeiLi 01 3201 1= %ol 01 =201 Z%k=H= niotEh




Final Traceability Analuze

Operation

. . Methods Class Unit Test
in Sequence Diagrams

Use Case

1. Find Info 1. Get Account > Get Accountiaccount_id: int): void Input Account ID
2. Check Password 2. Category . ¥ Get Receiver_Accountiaccount_id: int): void Load Info
3. Limited Amount 3. Input Password : - — > Input Passwordipassword: int): void Input Password
4. Count Commission 4. Get Receiver Account S, I Check Passwordipassword: int): boolean Controller Check Password
5. Send 5. Input Amount AN Input Amount @mount: int): vaid Get Amount
6. Withdraw 6. Print Remain Amount \ ' Check Limitlamount: int): Boolean Get Total(total_amount)
7. Deposit 7. Get Answer Categorylcategory: Stringk: void Limited Amount
8. Check Remain o Find Infolaccount_id : int): void ' Get Answer
9. Print Statement Load Infol: void [ . / Print Statement
10. Pauback Call Funcicategory: String): void Bank Check Payback
Make Funcicategory: String): void Choose Gift Code

Update Account(User_id: int.,Ch_amount: int):void

Count Commissionlamount: int): int

Get Commissionlamount: int): void

Commission
Check Current Timel): int

Get Totalitotal_amount)

Check Paubackifrequency: int): void

Check Frequenculfregquency: int): Boolean
Get Gift CodelG_code: int): void Pauback
Add Gift CodelG_code: int): void

Choose Gift Code(): void

Get Answer(answer: Strino): Boolean

Statement
Print Statement(): void
Send Amountiamount: int): int Send/Withdraw
Show Amounti): void
Check Total Amount(): int Check Remain

Print Total Amount(total_amount: int): void







